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Solid slab

axS 13 * daluall = (aaS)uaal) 448
a3l was Al | &L S paa G
SN pas 3/1 Ll
0.80*1.30%0.15%* 4aluall = Ll 3 4ually
0.40%1.30*0.15* aaluall = Ja 8 dpally
0.350%1.30%0.15% daaluall = (a)iand 4l

Flat slab

228 60/ Aabuall = () waall 4us
0.80%*1.10%0.2* daliwall = Ll 3 40l
0.40%1.10*0.2% daluall = Ja 0 4l

0.350%1.10%0.2%* daluall = (da)cian Loy
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(120/ Aabuall) = (Gh) waal) 45aS
(35% caSall yiall) = (ph) paal) dpaS
(5/ Aaluall) = Ll 1 dpuailly
(10/ Aabuaal) = Jall Ay
(13/ 4abuall) = (Gha)iond duilly
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TPV
L1* 4 Aaluall = (aaS) paall 20eS
(20/ Sl _iall) = (0ha) paall 4:a8

0.80% ((9/ Aaluall )= Ll 31l 438
0.40% ((9/ Aaluall )= da il d3a8
0.350% (9/ Aabuall )= (L) iiansdl Al

daas Y

(240/ Aaluall) = (Oh) waal) 45aS
(100%* cSall yiall) = (Gha) sl 40a8
(25/ dabuall) = Ll 31 4l
(50/ Aabusall )= Ja 1l Zuusilly
(60/ Anbusall) = (Olh)ciandl duuilly
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